
Answer key

LDC CRACKER EXAM - 2

45. a) bpdm-\kv

46. b) ]o‰¿ lm≥UvsI

47. a) At‚mWntbm tImÃ

48. d) apwss_

49. d) tcmlnXv i¿Ω

50. a) Ata-cn°

51. b) B{iaw
52. a) sI. {ioIp-am¿
53. c) k¿Zm¿Pn
54. c) {]Xn-{Km-lnI
55. b) A full purse never lacks friends

56. d) Xncp-hm-Xnc
57. b) AgIv
58. b) k{am v́
59. a) ap®o´p Ifn-°m-cs‚ aIƒ
60. b) sX°≥
61. d) Apathy

62. b) Sanctified

63. c) Regret

64. b) is

      ( One of the + Plural Noun + Singular verb)

65. d) is

66. c) it has been done

      (Present perfect tense s‚ passive form :
       Object + has/have + been + V3 + by + sub)

67. c) to consult a dictionary

        Imparative sentence s\  Indirect speech ¬
B°m≥ Ist person + ordered/advised/warned
etc + 2nd person + to + balance of the sentence

68. c) to

69. b) it would break

(Main clause ¬ V2 h∂m¬ subordinate
     clause ¬ would + V1)

70. c) Amalgamation

71. b) was

          (Uncountable noun + singular verb)

72. c) aren’t you

73. b) to

       (prefer +to)

74. d) a

75. d) Elegy

76. b) geese

77. d) starve

       (would rather + V1)

78. c) what

79. d) deer

80. a) Idealistic

1. b) Xr»q¿

2. c) A¿t\mkv ]mXncn

3. c) IY-I-fn-∏m´v

4. d) cmP-y-k-am-Nmcw

5. a) imkvXmw-tIm´

6. c) s\Sp-ßmSn _m¶v

7. b) Ab¿e‚ v

8. b) s]menhv

9. a) B\n-_-k‚ v

10. c) 11

11. d) 1.18%

12. c) 1932

13. b) ]®

14. a) s]cn-kvtIm∏v

15. d) Utbm-]v‰¿

16. a) ssl{U-P≥

17. b) 8

18. a) sa≥U-neohv

19. d) sU¶n-∏\n

20. d) Xe

21. c) Ae¿Pn

22. b) ssat‰m-tIm¨{Unb

23. b) B mw

24. a) {_“-]p{X

25. b) emtlm¿

26. a) 1773

27. d) tatbm {]`p

28. c) tπKv t_mWkv

29. d) kp`m-jvN-{µ-t_mkv

30. c) 1953

31. a) tImSIv alo-{µ-_m¶v

32. d) Xpº

33. a) icm-hXn

34. b) P_¬]q¿

35. a) tkh\ \nIpXn

36. b) HUoj

37. c) 44

38. b) knJv

39. d) hneyw tPm¨kv

40. d) HUoj

41. a) s\bv-tdm_n

42. b) Unkw-_¿ 18

43. d)Si,Al

44. c) 1869



Maths Expalnation

81. b) 26:19:13) 26:19:13) 26:19:13) 26:19:13) 26:19:13
  C=x,   B = x+6    A = B+7

x+6+7   =   x+13

                x+x+6+x+13  =   58

                       3x + 19   =   58

                              3x   =   58 - 19   = 39

                                x   =  13

                    A = 26,   B = 19,    C = 13

                      A : B : C  = 26 : 19 : 13

82. b) 25) 25) 25) 25) 25

     1,   7,    9,  14,  17,    21 __25___

                            +8          +8          +8

83. a) 130) 130) 130) 130) 13000000

                60h - 11m   =   60 ×8 - 20× 11

                                2                       2

                      =  480 - 220

                                                      2

                                           
 = 

  260         
  = 130

                                                  2

84. b) 73
  K   U   M  A  R    K  U  M  A  R  I

                                                              

           11   21  13  1 18  = 64            64     +    9   = 73

85. b) 10) 10) 10) 10) 10

             Ramu          Rahim
4 yrs before      x                 3x
            Now     x+4              3x +4
    after 2yrs     x+6              3x+6
                        2(x+6) = 3x +6
                         2x+12 = 3x +6
                                  6 = x
 cmap-hns‚ Ct∏m-gsØ {]mbw = x+ 4
                                                      = 6+4 = 10

86. c) 120) 120) 120) 120) 120

     180 ×  2     =
 
 x  × 

  3
                         100              100

                             x = 180 x  2   x 100   = 120
                                              100      3

87.  b) 300) 300) 300) 300) 300

360 × 100   = 300
                                 120

( ( (

{

88. d) 5) 5) 5) 5) 5
          BKÃv 25 ˛ hymgw
           BKÃv 29 ˛ Xn¶ƒ
  F¶n¬ 22, 15, 8, 1 Chbpw Xn¶ƒ Bbn-cn°pw

89. c) 93) 93) 93) 93) 93

     6, 12, 18, .............

               a= 6,     d = 6,      n = 30

                   
Sn =

 n
 [2a+(n-1)d]

                           2

                  
S

30
 = 

30 
[2×6 + 29×6]

                            2

                       = 2790

     icm-icn =   XpI  
=
 2790   

= 93                  FÆw    30

90. a) 9) 9) 9) 9) 9

20C5A3B4D2  =  20 ÷ 5 - 3 + 4 x 2

                                  =  4 - 3 + 8

                                  =  9

91. a) 60) 60) 60) 60) 60

                       M
1
D

1
 = M

2
D

2

                           
D

2
 =

 36×25 
= 60

                                    15

92. c) 600, 600, 1200, 1200

                          x + 2x + x + 2x  = 360

                                              6x = 360

                                      x = 60

                           600,  600,  1200,  1200

93. d)190)190)190)190)190

lkvX-Zm-\-ßƒ   =
  n(n-1)

                                                 2

                                        = 20 (19)   = 190
                                                 2

(

(

(
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94.  d) 10) 10) 10) 10) 10
                                                    (8,6,10)

95.  a) 2) 2) 2) 2) 25959595959

                260  
= 260.2-1

                2

                       = 260-1  = 259

96.  b) 4/5) 4/5) 4/5) 4/5) 4/5
         (AwisØ 10 sIm≠v KpWn®v tOZ-

    Ønse kwJ-y-sIm≠v lcn-°p-tºmƒ
    henb DØcw hcp-∂-XmWv henb
    kwJ-y)

                  70/10 = 7, 
 40/5 = 8

                   50/8 = 6.25

                   30/4 = 7.5

97.  d) 75) 75) 75) 75) 75km/hr
        

  S =
 D   

=
  250   

×
 18

                              T       12          5  
= 75km/hr

98.  a) 3) 3) 3) 3) 3

    (a+b)2 +(a-b)2   =  2( a2+ b2)

               (9)2 +( a-b)2   =  2 ×45

                  81 +(a-b)2    = 90

                         (a-b)2   = 90-81 = 9

                            a-b   = 3

99.  a) 2541) 2541) 2541) 2541) 2541

   (kwJy-I-fpsS XpI, aqt∂m aq∂ns‚
      KpWn-Xtam Bb-h)

100. b) 9) 9) 9) 9) 9

kaNXp-c-Øns‚                  a= 3a
          hnkvXo¿Ww  = a2

         hiw 3 aSßv
 Bbm¬ hnkvXo¿Ww = (3a)2

                                    = 9(a2)
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